Differential Calculus
03-62-139/140, Fall 2015
Lab Assignment 3

Show ALL your work to receive FULL credit.

1. Find all values of z in the given interval that satisfy the inequality.

\/(a) (7 marks) 2sin*z — 1 < 0 for z € [0, 27]
(b) (7 marks) tanz < 2sinz for z € [0, 7
%raph the functions by hand, not by plotting points, but by starting with the graph
of one of the standard functions and applying the appropriate transformations.

1
2z —4
(b) (4 marks) y=1—2cosz
(c) (3 marks) y =In(1 —z)

(a) (3 marks) y =

3. Determine if the following functions are one-to-one, even, odd, periodic. Also find the
interyal of i interv: & _slnow dan, ¥ : l\r\( \,3 U(U(QL\.S
(5 marks) f(z) = z* + 4z + 2.

)\ (5 marks) f(z) = tan2z for z € (=3, im),

4. Find the functions f + g, fg, and f og.
(a) (3 marks) f(z) = 21:—3_1, g(z) = tanz + €*

(b) (3 marks) f(z) =522 — 2z, g(z) = V/1+z —2




. / ,{';
) s
( Al
C L t'(, ‘l
4 | — 5
Oz 1 (e, B o e X \\\
i & A A\ 74\ 1| —
s =P
v/—\ \
(=T, 3T 5T Jx ./
| ¢ 4 g
! 1

U e o
\ndervald

= \ntpevels \ \IQSH— (,’/Ol(";\rs QS\(\C X-14<o0
(0)7/4) \ T(’B . 5
(1{ 214 ) \ T2 F
T“ ’“m3 \ \T
bﬂ 'TLl; X 3%,’ \ =
,27) 151
(% \ i \-r g
@ U [0 /4,504 JUEE 2 )
Cb‘QdL (’i"dvmb ) i
s GnY-1<O —
AN o i 3
4 | T
__3%/% T
=T
27 lT
&




VA ‘ i (.} b —
§k(\‘.\(7<— \;-) O
v T~
glf\xi &, ..,‘_:—— — 2 =)
(oSX
q/ Xz 6,7 i
o3 / -
I = & cask i ( ' :
) %6
\/9 =coSX 42 N3
\nkervelg —s ‘
+ | ,
o WE

| ndecvols

A=
Xﬁf;\—gu('\ 5\ "\‘O_V\XL 2«3\1’\.7\

(0,73

6 \T

(”25'”)

’M’/g

_\




\

L <
L o)(\ oy,

(‘ﬂ—o a‘[‘f nphoie \,«(DI
Q el 2oikal, fr‘w«‘”“)’ /’;

honza. \C‘/D' Nt "“‘ ('qf'* A YN L‘L)
0@’4

! 'Ofo':))c Co\of jru?v\ —

.
\ V?(h(@(dﬁ)#(l Lj
VQH‘CAL (Qﬂf( 10N (f‘mu‘; o aals )
\Ii‘dnrwcv 5\'\;{4 up bu T Umlc

{omnge O\{op\«—a gmpb

(ol
(ag\ﬂ:
T\A‘l}* ﬁ".o{\(:‘.

v baace
b‘,\\— 5¢.m€
+&'\AU‘.J

/iy lg: \n (\—*)
—\n(-%+)

(j <in (=) (x-D)

Lty

HDK \Zz,rht rellechon (J bout WJ‘S)
% Horizor 0‘6\ /[,\,H, one flﬁ)ﬁ




Ol A

- . C ki 0
¢ 3)0) £(x) =x"44xx2 | e 2
£ ) = ( o Hl (A )+ \ i
. e b = o Y= (xr2) 2
*Um_) ‘(:N'A’)On % not odd O _even wilex1s (=2 -2)

( H le\ F_Symmelic  about the (-0%iS ) A J{
Peviodic—>n }o > ) 4&.:‘}7‘,[“__
t‘v"”;" AN 'ﬂ
C) Odd —no < ) e
. One 40 one—> No (J'ww . Pm:‘- 5 horizond al fice “"3')
ntevval etc IncreasSe —> (—2 ) o

lebeal o decease — (= O, 2,} =

O 3b?  ton Ax bor xe(-27p4,5™A)
P(’fw;g\'\(f—)kj?.ﬁ -C(-’?(j: {amg(”%)
0dd — Ves = Lark2x)
C] 2 uvN—2= No Z = ’Qon 0 x\ i g
0ne 0 one—s 10 £-D = -£>6dd
Inecval sh \ncreose — (294, Th) U(- ‘W/L; T/Liu'ﬂ'/hf 274 3
j‘fl PC‘é\ﬁHv('JQ—"MQV\ﬂ//

o) £+6’/ +(Jcanx+e) o {’5 (2)(' ({an)(Jrc )

élsz—
- = F e »
ﬂﬁ 2%\ e /
: T
® %3: H%UD = Hlanrse*) = Hunxve”

—

Jlonxrer)=|

e ,,



’: tq"fﬁ.5‘><1- TS TS B W

ry= (X =23 ]k -2) P4

teg =Llge) = FOYTx -2)
=50 2. ~9J‘2 —2( ) 1+%

=

J




